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Two condensers of capacities C; and C, are connected in parallel and charged. Then the ratio of charge on C; to
chargeon C, is

I] LAKSHYA KO HAR HAAL ME PAANA HAI



Two identical parallel plate capacitors are joined in series to 100 V battery. Now a dielectric constant (K = 4) is

introduced between the plates of second capacitor. The potential differences on capacitors are
1)60V, 40V 2)70V, 30V 3)75V, 25V 4y80V, 20V




The work done in increasing the potential difference across the plates of a capacitor from 4 V to 6 Vis W. The

further work done in increasing the potential difference from 6V to 8 Vis
1) W 2) 5W/7




Three condensers of capacities 3 uF, 4 uF and 5 uF are connected in series and a constant potential is applied

between the ends of the combination. Their potentials are in the ratio of
1)5:4:3 2)3:4:5




The radius of the circular plates of a parallel plate condenser is ri. Air is there as dielectric. The distance
between the plates if its capacitance is equal to that of an isolated sphere of radius r is

WM 2)r’ /[ 3)r/n 4)r’ /4
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Three condensers each of capacity 6 uF are available. The effective capacity that cannot be obtained by
combining them all is
1) 18 uF 2) 9 uF 3) 4 uF




The capacity of a parallel plate condenser with air medium is 60 uF having distance of separation d. If the space

between the plates is filled with two slabs each of thickness d/2 and dielectric constants 4 and 8, the effective
capacity becomes

1) 160 pF %320 uF 3) 640 pF 4) 360 uF




Two metal spheres of radii 16 cm and 20 cm having charges 10 nC and 6 nC respectively are connected by a
ire. Then the common potential is




Two condensers of capacities C; and C, charged to potentials V; and V, are connected in two ways as shown in
the figure. The ratio of loss of energies in the case (i) to case (ii) is

2) (V4 - Vo)?

(Vq +V3)?
) (Vi +V )2
(V4 - V3)

case(ii)




A parallel plate capacitor with air as medium between the plates has a capacitance 10 pF. The area of the
capacitor is divided into two equal halves and filled with two media having dielectric constants 2 and 4. The

capacitance of the system will be
1) 10 uF 2) 20 pF 3) 30 uF 4) 40 uF







